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bl 61,954 61,954 0
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SQ01 OHNEE SRS XA 529,744 287,775 241,969
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= 422,722 230,220 192,502
307 QI2+0| & 529,744 287,775 241,969
(= 107,022 57,555 49,467
= 422,722 230,220 192,502
06 283 529,744 287,775 241,969
Os20l HNEE SIHRE3 X2 529,744 287,775 241,969
[ 107,022 57,555 49,467
2 422,722 230,220 192,502
SZ2 WHEE sSIHREY= XA 3,324,036 2,839,239 484,797
(= 1,108,012 946,413 161,599
= 2,216,024 1,892,826 323,198
307 QI2+0|& 3,324,036 2,839,239 484,797
(= 1,108,012 46,413 161,599
= 2,216,024 1,892,826 323,198
06 283 3,324,036 2,839,239 484,797
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